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COMMENCE : FSRSLVLO : : BEGIN : ?

e

A) G-, (i)-4, (iii)-2, (iv)-3 (A) EHKNU i
B) @)-2, Gir1, (-4, (v)-8 (B) EIMOV

©) ()-8, Gi)-1, Gii)-2, (iv)-4 (C) EIKNU

D) ()4, Gi)-1, Gi)-2, (v)-3 (D) EILOU
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Which is I‘.he m 1
y ost important g b
in Communication ? ym ?] useq

(A) Words

(B) Pictureg
(C)
(D)

Actions

Eye contact

of the f‘ollowing provi
feedback ?

(A} Oral communication

(B) Written communication
(C) Non-verbal communication
(D) Visual communication

Match List-1 with List-Il and select the
correct answer from the codes given below
the lists :
List-T
(Classification of
non-verbal
commaunication}

)3 Kinesics 1.

(ii) Proxemics 2.

List-IT
{(Description)

It is about
eyes

It focuses on
understanding
the voice pitch
Meeting at
10.30 a.m.

)iiii) Para language 3.

o

It is the study
of space

(iv) Time language
around us

Code :

(A) ()1, ()4, (iii)-2, (iv)-3
(B) (i)»-2, ()1, (iii)-4, (iv)-3
@ (1)-3, (ii)-1, (iii)-2, (iv)-4
D) ()4, (D)1, (iii)-2, (iv)-3

4.

(3-B)

Ravi walks 20m North, then ho turn
right and walks 30 m. He then turng g ght
and walks 35 m. Now he turns left and
walks 15 m. Further‘, he again turng loft
and walks 15 m. His distance ang
direction from the starting point is :

(A) 45 m West

(B) 30 m East

(C) 30m West

(D) 45 m East

The value of the missing number is -

(A

(B)
()}
(D)

L <1 o ™

In a certain code, TRAVEL is written as
TAELVR. In this code, SIMPLE will be
written as :

(A) SMLIPE

(B) SMLEPI

(C) SMLPEI

(D) SMLEIP

The correct alternative to complete the
given analogy is :

COMMENCE : FSRSLVLO : : BEGIN : ?
(A) EHKNU

(B) EIMOV

(C) EIKNU

(D) EILOU
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10. T S 199 190, 29 2, B3I 3w g

3 e g s awdr @ 1 @ae 12.00 T Y oy
@ 11.00 79 @ #r wfeafT F0) T T8 T ety

7 SR 2

(B) 0-3333333 (A) 66

© 2 (B) 67

(C) 78

o - %
(D) 74

11. z@en® SATTEAT TS BT ¢

aau, ebo, ici, ode,

9. o st g e s @t o FA1H 5 o

ferft & frmr T 8) -
(B) uae
1. aR @ Hge A7 dx + 40 3 10x & A x
&: (C) aue
2. Sxd5FEEATL: (D) aeu
3. R 3 o Fi w1 eI 40 5 R, T wR
AR : 12, v HE 19 W, @ a9 WS- e 2l 2
frafafga d @ Faradi g 2 2 >
@c: 5 1 3 6
1 2 3
a) 2
(A) 10 63 15
(B) 1
(B) 15 27 36
(C) 5
(C) 10 54 40
D) 6

(D) 10 27 30
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9.

EN1/2025

Which of the following is not

a ratj
number ? tional

b
(A) 7

(B) 0-3333333

() 2
11
@ -7

Consider the following statements (a]] the
angles are measured in degrees) :

1. If two supplementary angles are
4x + 40 and 10x, then x is ;

The complementary angle of %x 45
is:

3. If two complementary angles are in
the ratio of 4 : 5, then the smallest

angleis:

Which of the following is correct ?

Codes:

1 2 3
(A) 10 63 15
(B) 15 27 36
€ 10 54 40
M 10 27 30

10.

11.

12,

A clock buzzes 1 time at 1 o’clock, 2 times
at 2 o'clock, 3 times at 3 o'clock and so on.
How many total number of times will it
buzz from 12 neon till 11 p.m. (including
both) ?

(A) 66
(B) 67

(C) 78

(D) 74

The next word in the series will be :

aau, ebo, ici, ode,

(A) uea
(B) uae
(C) aue

(D)} aeu

When number 1 is at the top, which
number will come at the bottom ?

2 2

5 3

(A) 2
B) 1
G 5

D) 6

(5-8)
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(A) 56 ¥=E
(B) 48 ¥F0s
(C) 64 ¥
(D) 36 &S
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#:
kL kml_ _minkm_n
Gﬁﬁ%ﬂﬂwaﬁmﬁﬂaﬂ&?@ﬁ%w

d8h

(A) lmnok

®) (B) 94 fire
(© Kinml (C) 96 fme
() mankl (D) 98 fire

165. e i & i s e # @i A 18, R e By R | @l o % R T ST

(Mirror image) 8 ? o ¥ o F = s At |
(A) MWXIXMW 1 ft s ¥ frg wme, wifea SO SRS
(B) XWTSTWX I A A TS |
(C) MOTWTOM 9. frd ariws &t i, WIeT @ FH & whd
(D) BODHIXE &

3. atfaer 1 ATex Gt A F AR |

16, e e qeramr 12 & et & 31 7, 23 Felt PreRfaa i A S ?
3m57€ﬂ%l%ﬁﬂﬁmmﬁmﬁﬁ w2

e e A T 1
Tz feret 3T 2 . 2 3
© 111 ©F T T
@ 81 e
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in of . :
13. A m’fa r:] :er;zzh i%% meters is running q¢|17. A student studies 8 hours per day, h,
a uﬂl 5 P 5 o kmfhr It will pagg following pie-chart shows the time spent
pridge of length 600 meters in : by him on each subject. How much Hina
(A) 56 seconds (in minutes) is the student studying
(B) 48 seconds Mathematics ?
(C) 64 seconds
(D) 36 seconds athematics
(20%) Science
14. Consider the following series whepe Bomie 4 (20%)
of the letters are missing : Hindi
k_I_kml__mlnkm_n (20%) Social Science
. lo (256%)
Choose the c?rrect o?tmn 50 that the éﬁg@ a-é‘,b -
letters appear in a particular order, N S
o
(A) lmnnk
®) B (A) 92 minutes
() klnml (B) 94 minutes
(D) mnnkl (C) 96 minutes
15, Which of the following word is the mirror| () 00 minutes
y s 9
imageof itaelt* 18. Read the given statements. State T" for
(&) MWXIXMW true and ‘F° for false.
(B) XWTSTWX 1. Mean, Median and Mode cannot be
(C) MOTWTOM the same for any data.
(D) BODHIXE 2. Median of the data can be less than
the Mean of the data.
16. A box contains identical balls of which 31 3. Mean of the data is the sum of all
are ted, 23 are black and 57 are green. the observations.
The least number of balls to be taken out Which of the following is correct ?
to ensure that at least one ball of each Hind
colour is drawn is : . e: : ; i
sl a T T T
(B) 89
B T F T
o I ©F T T
231 »81 ®F T F
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19, R v Frewarg P A e g TV g,
o T, i IEET QA =g W :
(A) 100%
(B) 200%
(C) 300%
(D) 150%
22,
23.
20. ?l‘f?\‘-‘x+l =3%,?ﬁx3+ —la-'q:'l']ﬂ%:
X x
(A) 16
B) 17 24,
(C) 18
Dy 21
e .
5 ]
2200 -5 (8-8)
A
r“'?-l = 3n

frerferRas sty 9 () il F Fremert FE T &
ity it efaré 1 WAt R
Q

P
wﬁmﬁﬁgpﬂw%mﬁﬁmﬁ%ﬁaaﬂ
femwH A fgPARTQTF R F
fora e Parer e Tt € 2

(A) 19
(B) 20
(Cy 21
(D) 18

faffmeas w T e

(999x1001) + 1

(A) 990
(B) 1000

(C) 1010

(D) 1100

. Freaffas 3 & Fe-eh wem gul e 3 frg

27

(A) 484

(B) 784

(C) 256

(D) 356 )

_ Frenfiit = fereneff, S, wow, anfe ¥
mﬁmmaﬁtm@rﬁzﬁ%aﬂﬁwaﬁ
TERF ¢ | !
(&) wawfaRe

(B) ar-Riftafes dwmrant

(C) T -
(D) A-fanfiem .
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19. I each side of a scalene The following figure is made with nine

tria . |21.
ngle is squares of length 1 cm each,

doubled, then the area will be B il

by:
(A) 100% b
A student is standing at point P, The total
B) 200% ~ number of shortest paths to reach point Q
( . | from point P, if the student walks along
| the bounda;ies of the squares only, is :
© 30 @ 19
(B) 20 !
c 21
0%
oy (D) 18

29, The value of the following expression is :

J(999x1001)+ 1

(A) 990
(B) 1000
20, Ifx + 1_ 3, then the value of x3 4 La (€) 1010
x X (D) 1100
is : 93. Which of the following numbers is
different from other numbers ?
(A) 484
(A) 16 ®) 784
(C) 256
(B) 17 (D) 356
24. help(s) students become aware of
their strengths and weaknesses as
€ 18 learners, writers, readers, etc.
(A) Meta-cognitive abilities
o) 21 (B) Meta-linguistic abilities

(C) Meta-morphosis
(D) Meta-recognition

SPE/11/2025 (9-B)
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2 F |29 T Fe o A, NECK #1 43-11-5-31 3 29
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(B) Iatufeaw o T & | ) a2 Wi, APPLE Y vt
(€ chmafisa % i s e Foram s 7
(D) g (A) 5-47-47-37-11
(B) 2-53-53-37-11
26. I AT (C) 2-37-37-47-11
6A4, 12D7, 20G11, 30J16, ? . N
. (D) 2-47-47-37-
(B) 40M23
(C) 42M24 30. fA=fafgs v w fEm fift
@)" 40820 527, 693, 518, 734, 625
27. P Tt @) o o et Ry | O T W I 3 st e e s
A 9% ¥ F7a o S iR 39 wew s wemei
w7 I - g & i Agan 2 a%ﬁgqmﬁmﬁmﬁmmiﬁmma@
FoA I - gl el @ g 3 e ¥ S 1 A R & 0
s () ITn 3 adtE Wy Fes 39S

(C) Faa w2
. “©) 13 i
(D) I Il @i e &)

(D) 14 o
2 2.5 —

SPE/11/20 :
(e (10-8) 515




=

26.

26.

27.

SPE/11/2025

A boy and a girl are standing at g no:

The boy walked 3 km straight :':mt P,
east. He turned left and walkeq \;&rdﬁ
gtraight, then turned left S km
walked 3 km straight. The girl Sta:tr;j
from peint P and walked 2 km straigh

rowards south. She turned lef; ang wali t
3 km straight, then turned left a::;
wﬂ.]ked 2 km straight. The boy ig now ;

which direction of the girl ? &

(A) North-East

(B)
©
D)

North-West
South-West

South-East

Find the missing term :
A4, 12D7, 20G11, 30J16, ?
(&) 42M22

(B) 40M23

(©) 42M24

29,

(D) 40N20

Read the following statements and choose
the correct option :
Statement I : Cheetah runs faster than
horse.

Statement Il : Horse runs faster than cat.
(A) Both I and II are true.
(B) Only I is true.

(C) OnlyIlI is true.

(D) Both I and II are false.

30.

On a road, you observe a group of people
beating 8 person assuming that person (o

be a thief. What should you do?
(A) Ignore the incident
(B) Enjoy the incident
(C) Leave the place

(D) Inform the police

In a code language, NECK is coded as
43-11-5-31. In the same language, APPLE

will be coded as :

(A) 5-47-47-37-11
(B) 2-53-53-37-11
(C) 2-37-37-47-11

(D) 2-47-47-37-11

Consider the following numbers :
527, 693, 518, 734, 625

If the first and third digits of each of the
given numbers are interchanged and the
numbers are arranged in ascending order,
then the sum of the digits of the third
highest number formed is :

(A) 17
(B 18
© 13

(D) 14

(11-B)
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R : Aefife srva w R A ok 574 © T
N @ 31 B 35 7% & ] # swafrg
5

4.5

Wl wat el e nf kL
oMoyl v R S
v I R g
81. i, 5 it R 7 g et AW o, A, o
e et g oot ot & ST R 2
A) 2:1
(B) 1:2
«C0) 1:1
(D) 8:2
£
32, s oft feia i g¢ et v, ider oA et &
o et e @ Pl s 22
(A) 75%
_4B) 100%
) 60%
D) 45%
SPE/I1/2025

38. wEatt

2 # =, et Y ot - qomn i
|

R

AA) 05T
(B) 0-27ph
©) 037

(D) 0-87H

M. wiql sEi R A ¥
(A) 16T
(B) 05T
©) 157
B) 27T

i)

R, s o e g, ot
H Biga) T Tt a7 21

&) 23%

35.

Br20%
(C) 50%

(D} 45%

(12-

B)
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Dl-mﬁ'ons : Consider the follow; .
and answer the questions aske::u;f :i;:ng‘ 3. The rainfall in January is T
Questions No. 81 to 35, ks the rainfall in July.
5
a.i (A) 0-5times
e (B) 02 times
15
: P
i (C) 0-3times
1
ot (D) 08 times
0
® Rainfall {in Inches)
g1, What is the ratio of the total rainfall in B ThainI pays that of the
March, June and September, taken rainfall in February.
together, to the total rainfall in January (A) 1-6times
July and November ?
(B) 05 times
(a) 2:1
(C) 1:5times
(B) 1:2
D) 2ti
© 1:1 B S
D 3:2
35. The rainfall in July, August and
32, The total rainfall for August and September is of the total rainfall
September is more than the total rainfall in the whole year, excluding February.
for April and February by :
(A) 23%
(A) 75%
(B) 40%
(B) 100%
(C) 50%
(C) 60%
D) 45%
D) 45% o,
(13-8)
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qﬁ oy aﬂt ¢i$?‘| aq‘i AT a?[ Eﬁ’ﬁ g‘

38. Frefifas st i et fea Bngar € 2

36.
i T A i 8, @ v A war d,
qa“#"-w’ﬁaﬁmﬁ.aﬁ”mﬁa
- RFE ATt ?
(A) 18@3$3#12=30
(B) 3@18$3#12=75
(C) 3#18$12x38=15
(D) 18x3#12+3=30
&) 11
(B) 12
87. Prefafer A AR : € 13
(9-1)% - (10-9)° o u
xR xS
(9-1)° - (10.9)°
(9:1)* +(9-1 x10-9)+(10-9)® @ A
(7-9)° +(7-9 x 2-1)+(2-1)?
(79f-@1)’[a9. = __ ¥ _ =z _2k
————(7‘9)2_(2.12 X+Y+Z X+Y+Z X+Yy+z 3
) 33k x>0, y>0, z>0 &, a6k
a) 1
A4 1
(B) 2
(B) 3
(C) 3
(C) 2
(D) 4
(D) 4
SPE/I1/2025
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«.” and “$” both d iy G,
96 I+ : enote division”, g8, The total number of triangles in the
uy” denotes subtractmn". following figure is :
«@" denotes “addition”, anq
ugr denotes “Iﬂultiplication”.
then which of the following optiong g
incoﬂ"ect ?
(A) 18@3$3#12=30
@B 3@18§3#12=175
© 3# 18$12x3=1-5
(D) 18x3#12+3=30
@ 1
12
g7, The value of the following expression is : i
() 13
(9‘1)3_ (10‘9)3 (D) 14
(9-1)2 +(9-1 x 10-9)+(10-9)*
*
(0P +(719x2. )@ 1) gg = =¥ _=_2_ o=
' X+y+z X+y+z X+y+z 3
(7.9)3_{2.1)3 and x>0, y>0, z>0, then 6kis:
2 2
(7-9)" -(2-1) (a) 1
(a 1 3. 8
© 3 ) 4
D) 4
PE/N/2025 (15-B)




f;;;?: mwﬁ,qo-w:ﬁnﬁfa‘aaﬁaaﬁﬁwm 43. Fefafas § & F9.a Das dan & g &
HTHI A A CH AR

o7 B My e & e Ao 1 e F I 3 A R

Smyifta g =R W
ﬁﬁqwﬂ?mﬁ,aﬁaﬂz«hﬁﬁﬁsﬁﬁm%ﬁ’r
3 e w8, i s vt A Frefe F@ BRI | (B) arery

Tz A §, 3R W 3 it e 7T & S 9 THE
el (C) firer=m

~ (}& (D) T=aTeHRaT
yc\e"'

44. Ffafen § & Fd woreht @9 T R H
Fefirerest el 8, 38 Jead W A wh & @@
TRl ¥ fore =g § . e aRA o wnfed

40, Fre o et ol 89 = wee @ § g ¥ B 30

L
AA) 2 (A) Tadem
(B) 4
B -
s (B) ¥iw
D 9 (C) U wafi
41. ﬁsaﬁ‘ah&ﬁdhﬁaﬁmm%wqeﬁﬁaﬁ (D) digEde
T ? )
(A) 2
(B) 4
AUFTE R
M) 9
42, Frrcim & e gt H o w rgam | (&) S
7
Ay (B) firerm
B 4 e
(C) 5 © Tﬁn
(D) 9 (D) fora
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= (Questi

,ﬂ.c“‘ans . uestions No, 40 -
:‘p" ollowing figure and anger :121 : Look at|43. Which of the following is not one of the
ad ed O the end. The answers to H:s Tuestions constituents of the principles of oral

eat:
ﬂl-dd be {Jﬂ'sﬁd on the rggum Oﬂ!y. questions communicﬂtinn ?

sh

venn Diagram given
the below, the 8quare (A) Accuracy

n‘prcs"“m persons who like bananag 5

m’ﬂﬂﬂl” _mpmenw _persons  who ' :fke (B) Clarity
gl whermes: and the circle represents pers:a "

: ns (C) Courtesy

o like appies:

W

(D) Creativity

6
/ 2 / 3 44. Which of the following is a system that
digitizes 2 spoken message, transmits it
) . over the network and stores it for the
40, How many persons like strawberries and receiver to retrieve later 2
apples but not bananas ?
) 2 (A) Instant message
(B) 4 (B) E-mail
(© 5 i
ol (C) Fax machine

. (D) Voicemail
41, How many persons like bananas and

apples but rot strawberries ?

(A 2 45. Which of the following is not one of
® 4 seven  principles (constituents)  of
() 5 communication ?
@ 9 (A) Conciseness

49. How many persons like bananas and

ctrawberries but nof apples ? (B) Courtesy

(h) 2 (C) Completeness
(B) 4

iC) 5 (D) Curiosity

D 9

SPE/I1/2025 (17-8B)
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PTRCT PRE —— 45, JAEEAA, Bt CHumE:
9 A | 12
1. R (WS Gy g e | R P D
2. wum (ddem) o =afe @ gt = o I 8 | c |1
FTHARHA-FRAR |
(A) A=9,B=13,C=11
% fog e e @ e ey o A (B) A=13,B=9,C=11
w2 (C) A=13,B=11,C=9
D) A=9,B=11,C=13
(A) Fae 1
B) FaT2 49, 9T & worl Woifha demr 1 46 8 1AW
_ #t o faftr= Rafeat Ra v & _
(C) 1Td 23 ' : :
(}J) Jar1adé2
2% farlia s W EET R
47, IR (@) & wedf §, frefofe § & S-and (A) 3
TG 2 2 B) 4
1. o=t it g v & St forar ST W @ © 5
3k T
LigEDy STERATE | P
2. wisEl F for@et W fr o g @ ok '
Wmﬁ?mmmﬁl 50, -q-& T w(+s, ‘-:—’ﬁr&ﬂf ‘_;” ._’ww ng’
1 o e e & et 3o o v o R
2. 12-8x6-4+6+3 FrOFd.
A) Fer1 (a) “33‘:'
(B) Faa2 (B) -112
. Bz © 118
(D) Far
13%2 (D) 92
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which of the following State
m

| "’
! “"-rc(:l.? N8 ig/are
1. Communication f it
. T
understanding, Ansfer ¢
|
[ 9 Communication g4
* Lrﬂnﬁf
er of

| .
n
meaning from one Person tg gy, th
0
er.

Choose the correct answer from
e
given below : Codes

Codes:

(A) lonly

B) 2 only

(C) Both1and 2

(D) Neither 1 nor 2

with reference to communication, which
of the following statements is/are correct ?

47.

1. Words can be transmitted orally and

received by listening.

9. Words can be transmitted in written

and received by reading.
Choose the correct answer from the codes
given below :
Codes:
(A)
(B) 2only
(C) Bothland?2
(D) Neither 1 nor 2

1 only

48. The values of the missing numbers A B

and C are
9 A
B
8

(A) A=9B=13,C=11
(B) A=18,B=9,0=11
(&) A=13,B=1,C=9
(D) A=9,B=11,C=13

49. The faces of a cube are numbered 1 to 6.

Four different positions of the cube are

shown below :

The number on the face opposite to 2is:
(A 3

(B) 4

(C) 5

(D) 6

50. If ‘4’ means '+, ‘+' means ‘~, ‘— means %,
“¢ means *“+', then the value of
12-8%x6-4+6+3is:

(A) -33%
(B) =112
© 118
D) 92

SPE/NIj2025
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éfw.la}@.na@mmmﬁﬁa’f*ﬁ 63. Rurggmtdd s gm e
fq Tq iz & T I o wwH A : N Sy p—
g g1l (B) fivew v
@ dww (1w ifis SR o(C) g e
(i) ®w |20 ¥EwEW (D) F: g@r 5y
.. T 0O L
e T C/Lﬂ_"é%ﬂé‘z 7; " 1
(v) wRgR |4 FewREEEUET |54, ﬁqwmg%ﬁm. :
‘ g 8 w7 & Pifdeq w9 & Fe o awa § 7
F [ - wft f Ffeai €1
- Fe 11 : I AT A T E |
(A) ()2, ()1, (iii)4, (iv)-3 ot Uca ff
(B) G)-1, ()3, Gii)-4, (iv)-2 ! ettt

(©) ()3, ()2, (ii)-1, (iv)-4

(D ()1, ()32, (iii)-8, (iv)4 I : FeFnRai g €|

I R E
farmeg

(&) ISR
(B) =T 11 3R 10
(C) Fawr 3k III
(D) 1, I sk I

52, ¥aR (dirw) F ded §, Frefafas § & #-ar wdt
g?

(A) iitear ©h e # wiawr F1 anfteis
LLiEa R ]

(B) Sicia U weA # Wi w1 seftgaries
GLCa kA

‘ ) 55. 37 2, 10, 60, 420, 3360 ... F AT GRE.
(C) il & Wed & wdww F @

(A) 30240
TfereTi 3l st ai 2 |
(B) 27840
(DJsiTLﬂamqa:mqﬁéﬁwm:ra‘r (C) 25140
earﬁmfmasﬂr:rs‘rmmnmmg. (D) 22240
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[ :
fatch List-I wit .
gl N e thlat-IIundal ‘o is di
correc wer from the codag o elect the|gg, The pair which is differently related from
the lists : 8 given helgw | the other pairs is :

—Ead | e ——————

(S —

) Sender T |
rh}'mca] Product (B) Rickets: Bone
rom the S0urce

(A) Joundice : Liver

= 1 o | :
(i) Message (2. The communicati (c) Tuberc ulosis : Lungs
ion

so0urce .F
e Fever
Gii) Channel [3. Determininy ——— (D) Dengu
whether =
u.nderats.nding has ||g4, Which of the following conclusions can

been achieved
(iv) Feedback |4. Them P

definitely be drawn logically from the
given statements 7

through which the

message travels | Statement I : All bricks are huts.
o Statement I : No hut is a flower.
A (1)-2, (ii)-1, (iii)-4, (iv)-3 o it
(B BRSNS G I: Some bricks are huts.
€ ()3, (i1)-2, Gii)-1, (v)-4 I1: Some huts are not flowers.
(D) -1, Gi)-2, (ii)-3, (iv)-4 111 : Some bricks are not flowers.

52. With reference to communication, which Options :

of the following is correct ?
(A) OnlylandII

(A) The grapevine is the official way
(B) OnlyII and ITI

that communication takes place in
an organisation. (C) OnlyIandII1
(B) The grapevine is the unofficial way (D) I,1IandII
that communication takes place in ’
an organisation.

(C) The grapevine is both the official and| g5 The next term in the sequence

the  unofficial  way - thatl 40 6o, 420, 3360 ..is:
communication takes place in an

organisation.
(D) The grapevine is neither the official (B) 27840

nor the unofficial ~way that

communication takes place in an (C) 25140

organisation. (D) 22240

(A) 30240
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aia # Ry g et 3 g Afere | e & IR T T
R amenfa g8 =g

TR S g qgs 5w & o o § | 7€ Ao At
4 s e @ & o s, s P, T
@%Wﬂﬁwﬁﬁﬁﬁwaﬁglm
e AT S wre F) wEAE B 5
fore 3 A smerc & w1 @ v @ i T F |
fore st el # | fidiea (2 STI) FE, S,
Rrafim, s wfiet @ oft @g @ @ 3 SR #
m#mﬁmméuwﬁ‘ﬂ
T w9 § SR, e, i, wiad e § | e e
<or o afe & ¢ ot e @ g 8 T T W,
ot i st e e 0 1 g 1 03 8
3K T regafs 3w oft 7 g @ Rred 3 it
A (T ) g i g v v €
&1 e v o Tl et fircvew I § | firdigE S
waT F Faf w0 o gee B € ot sed @dt
T efiie 1 0 a § wew w | P H A
STTEHaT 41 T T S I S @ud # g
7 & w7 ¥ 2023 F i Fiew ¥ (TYM)
Hifya i |

59.

56, WA HEEE L %,

(A) AR 1 e ¥ R
AB) wifii  wereht % fore
(C) = 11 a5eH & Ryw

(D) 579 @ g 7t
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(A) IuEe (Hye T st ey 1 w@aif
IeTEH B R |

(By =k ) srdam, ¢ a1 TgRfien gEHE T
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(O Frciga meA-gEm ER ¥
(D) 3t @ wrd et

Frefafan f § Sraamaa d 2
(&) ¢, fircizm ) arten e e TCHA FA
WEIE R

T A wEEE A & |
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it
Passage 1
; r'_ncfl'ﬂﬂs (Questions No, 5¢ _ &5
Q.‘J'O"”‘”g passage and answer ”lc'REad the
uskﬂd at the end. The anstwers to the A oy
.}mnfif pe based on the passage Fuegtions
$ 2
power foods, 8lso known as supe

,.icnt-rich foods that contain 1o rfoods, gre

l!lul ts ol h
:ents, such as protein, fi s e ealthy
putr! » fiber, Vitaming, and

orals. Most of the health traine
TS encourg
ge

min

heir clients to include these foods in their dail
1y |58,

o1 10 strengthen muscles. Millets :

ﬂ; fber, protein, vitamins, a.n:; "':::‘;“Ch
aking them an excellent addition to a he;iitl:-.s'
diet- Millets as a subhead consist of sorghu;
Li"“'ﬂ)’ pearl millet (bajra), finger millet (ragj)
ol parnyard millet. The Indian millets are
nutﬁl’:"“auy superior to wheat and rice as they
protein, vitamins and minerals.
They are also gluten-free and have a low
gy cemic index, making them ideal for people
«ith celiac disease or diabetes. India is the
world’s largest producer of millets. Millets are
found to be helpful in managing high blood
pressure and its cultivation helps to reduce the
carbon footprint. With the aim to create
owareness  and production and
consumption of millets, the United Nations
jeclared 2023 as the International Year of

Millets (TYM).

are rich in

increase

56, Protein is essential for :
(A) Weakening muscles
(B) Muscle strength
(C) Changing the colour of the skin

(D) None of these

SPE/I1/2025 (23

67.

Which of the following statements is

true ?
(A) USAis the largest producer country
of millets.

Wheat has
compared to pearl

Millets are gluten-free.
None of these

jow glycemic index as

(B) :
millet (bajra).

(&)
(D)

Which of the following statements is
true ?

(A) Wheat is helpful for reducing the
blood sugar jevel as compared to
millets.

High glycemic index foods are
helpful for fighting diabetes.

Low glycemic index foods are helpful
for fighting diabetes.

(D) Noneof these

(B)

()

Which of the following is a superfood ?
(A) Rice

(B) Barnyard millet

(C) High glycemic index foods

(D) All of the above

59.

60. Which of the following statements is

correct ?

(A) Millet cultivation helps to reduce the
carbon footprint.

(B) India is the second largest producer
country of millets.

(C) The year 2021 has been declared as
the year of millets.

(D) All of the above
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Fea-afad T3 33 R0 Wi ghEw § W § |64, R @V E AR A S g ;
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(D) FEEEEAA

2 (B) wafawfad
(C) Te=mH
6l. IR A ST EFAL - S iy
h) wEET 65. TR T O 1 Y Jer S 2 -
o S (B) ww-mmfr ¥ gvarg
s o AC) et b ard Y
(D) FrERTR
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e i 5 A & S e | By
(C) HgH
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(A) €T (A) FLEAEF T
) Sfaw #B) T afE R I
(C) == () gﬁﬂ@aﬂ'ﬁ%mﬁ
(D) fermam

(D) AR F TR
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AB) Rgfrgt-sifear
(©) Fgh-peh
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78. W UH AR

4 & 1 75 e e & oy o Qe TR
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(A) WMagd
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(C) il s &
JD) sfaaig

AC) e afve €5 & e & ST 2|
(D) san SR areTa Feer & = ey ST d )

1Y AT TET BIaT R «

(A) wogR-gER Y

(B) fRwsmmaiy

(C) 93w o Sraaor ey

75.

SPE/11/2025

P) fsfgra

(26-8)



=

Al (7 . 76 % 8
T % Srgry | 77 Tt o SR R 8

foa T S T Ay
Yy @RI
Tt s -
= (B) wmfEFa T
EICEl Wﬁa'ﬁmm&:%
ﬁﬂﬁ'&ﬂ%| (C)y TgW

» TS0 8 (D) ua aEfa W

ﬁmﬁﬁmm-ﬁ-mmwﬁaa&mmwﬁ 78. Fysa-Asa=R I a0 FE R, I
g,mwﬁmﬁtﬂmwgtmwﬁw (A) geE AT e A §
WWWW%WWWmaW (B) T s S it w R
b1 TIEY R, FIE-ATE et § it iy

(€) v €
frea- St ST W wdl | HITERRT B
Wmmﬁmﬁmﬁmtuﬁ = .
T S FT BT T & ¥, ST T aoft gy s 79. Shewa T @A R, d t
m;%aﬁmﬁaﬁawﬂmﬁmr@a
e S A BE T T e i wge o
qﬁmﬁ(émﬁa’cﬁ%mﬂvﬂtﬁ%ﬁ%%lgﬁm
sAfat S STHI & @i Y +ft s2ref 7 sy 2w

- (p0 e i 4 i s @
(B) wgawe  Jod &
(C) raT A e §
(D) w93 sftax W TTar T8 w0

76. ST awaar w e Bt .
80. ATHI FT UG H =7 @ wH v 9

(A) wFaraT

(A) &=
(B) famumadagdd B) whEH
(0) & agudm § ) e

(D) |mfas zad (D) feadrag

SPE/I1/2025 (27-8)



BB 86. e e 0 B

81. “migmeR (gt 3 fred i Ay & 2 ) FS-R R O e e
(A) B H (B) F=Am A
JOR L (C) fommmn A F
© e (D) e e G 8T
(D) wRAw A 87, Prffira d dARw TG ?
82. Frerfife ¥ @ @ U= OIRT: (A) vo wh F |
(K) s (B) a R F T T |
(B) g&en (C) =g @A & T T |
(©) s (D7 AFRA GG TR
(D) 3w '
83. ¥y 1 RAM AR 88, Y&IH F I AT
k) w3 () e e R T - R
o (B) e ¥ e - F
© =& (©) T A g - R
(D) wg@ . (D) e ¥ Ry i e - U

84. ‘IARIT T3 F BT IqEA 2 ? 89, Frafifed # & g adN T TR 2 :

LA g (4) fo==r
B) (B) Fmeme
(C) amfy
(C) R
(D) ="
(D) R
856. “gTH I ¢ga fa, w, hem, I § Reee
=3 90. ‘TaFAWY FTaAR nfR -
@A) T (A) feen-aic FEm
(B) # | (B) et =h
(C) =fyartt (C) TS B
(D) =R - (D) g fRawen
SPE/11/2025

(28-8B)



.
91. ‘M'Wﬁﬁ.{nm%?
AA) §
(B) ot
© #
(D> %

92‘ 'W‘WWW%Z

Ay fag
(B) fR&x

C) e
(D) @

93. ﬁq%%aftﬁaﬁﬁW-gwgﬁgq:
(A) 30 — d-qreeft
(B) 3% - faen
(C) ¥ag-fgewm
(D) FR-=r

94, TEE ARITTE T

(A) gFEYA
(B) Fvarfia
(C) svmadroRfyd

(D) zemvefaw |

95. 0 il wree-gm BifeT :
(A) 3F-WF
(B) 3 gew
(C) 3ue - fame
(D) s - gfefar

SPE/11/2025

96. ‘=RE ¥ PR EEE@ R?
(A) =%

(B) =gt

*(C) AT
(D) =t

97. ‘Mg TR PA-AaPag?
' (A) &
«B) I

(C) an
D™

|

|

98. dvq wIfam TR}
(A) I

(B) HwwH

(C) =q
~(D) ITH"

99. g+t WETET H TN FHEARI S -
A) e

(B) 3newIArEA

«(C) ATeHTETET

(D) HreavarTeht

100. “3f@ F1 wFigar e TR :
(A) =
(B) #
(C) 3=

(D) wq@

(29-8)



	first page
	gs paper_ 2 2025_02_161



